

Sumar Enteros (I)

Emplee una estrategia de enteros para encontrar cada respuesta.

$$(-44) + 2 =$$

$$48 + 37 =$$

$$44 + 12 =$$

$$(-22) + 25 =$$

$$(-19) + 81 =$$

$$33 + (-21) =$$

$$(-82) + (-92) =$$

$$40 + (-34) =$$

$$40 + 16 =$$

$$8 + (-94) =$$

$$(-35) + (-80) =$$

$$(-61) + (-8) =$$

$$(-15) + 1 =$$

$$(-18) + (-94) =$$

$$64 + (-13) =$$

$$36 + 93 =$$

$$35 + 3 =$$

$$(-72) + (-5) =$$

$$(-24) + (-77) =$$

$$11 + (-26) =$$

$$(-7) + 40 =$$

$$(-96) + (-36) =$$

$$97 + 99 =$$

$$61 + 46 =$$

$$(-70) + (-84) =$$

$$67 + 42 =$$

$$90 + (-80) =$$

$$8 + (-56) =$$

$$(-26) + (-58) =$$

$$73 + 81 =$$

Sumar Enteros (I) Respuestas

Emplee una estrategia de enteros para encontrar cada respuesta.

$$\begin{aligned}(-44) + 2 &= \\ &= (-42)\end{aligned}$$

$$\begin{aligned}48 + 37 &= \\ &= 85\end{aligned}$$

$$\begin{aligned}44 + 12 &= \\ &= 56\end{aligned}$$

$$\begin{aligned}(-22) + 25 &= \\ &= 3\end{aligned}$$

$$\begin{aligned}(-19) + 81 &= \\ &= 62\end{aligned}$$

$$\begin{aligned}33 + (-21) &= \\ &= 12\end{aligned}$$

$$\begin{aligned}(-82) + (-92) &= \\ &= (-174)\end{aligned}$$

$$\begin{aligned}40 + (-34) &= \\ &= 6\end{aligned}$$

$$\begin{aligned}40 + 16 &= \\ &= 56\end{aligned}$$

$$\begin{aligned}8 + (-94) &= \\ &= (-86)\end{aligned}$$

$$\begin{aligned}(-35) + (-80) &= \\ &= (-115)\end{aligned}$$

$$\begin{aligned}(-61) + (-8) &= \\ &= (-69)\end{aligned}$$

$$\begin{aligned}(-15) + 1 &= \\ &= (-14)\end{aligned}$$

$$\begin{aligned}(-18) + (-94) &= \\ &= (-112)\end{aligned}$$

$$\begin{aligned}64 + (-13) &= \\ &= 51\end{aligned}$$

$$\begin{aligned}36 + 93 &= \\ &= 129\end{aligned}$$

$$\begin{aligned}35 + 3 &= \\ &= 38\end{aligned}$$

$$\begin{aligned}(-72) + (-5) &= \\ &= (-77)\end{aligned}$$

$$\begin{aligned}(-24) + (-77) &= \\ &= (-101)\end{aligned}$$

$$\begin{aligned}11 + (-26) &= \\ &= (-15)\end{aligned}$$

$$\begin{aligned}(-7) + 40 &= \\ &= 33\end{aligned}$$

$$\begin{aligned}(-96) + (-36) &= \\ &= (-132)\end{aligned}$$

$$\begin{aligned}97 + 99 &= \\ &= 196\end{aligned}$$

$$\begin{aligned}61 + 46 &= \\ &= 107\end{aligned}$$

$$\begin{aligned}(-70) + (-84) &= \\ &= (-154)\end{aligned}$$

$$\begin{aligned}67 + 42 &= \\ &= 109\end{aligned}$$

$$\begin{aligned}90 + (-80) &= \\ &= 10\end{aligned}$$

$$\begin{aligned}8 + (-56) &= \\ &= (-48)\end{aligned}$$

$$\begin{aligned}(-26) + (-58) &= \\ &= (-84)\end{aligned}$$

$$\begin{aligned}73 + 81 &= \\ &= 154\end{aligned}$$